UGC NET 2021 Malayalam

Topic:- Malayalam_SET1_A
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[Question ID = 1979][Question Description = Q01_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7913]
2. 2 [Option ID = 7914]
3. 3 [Option ID = 7915]
4. 4 [Option ID = 7916]

Correct Answer :-
e 2 [Option ID = 7913]
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[Question ID = 1980][Question Description = Q02_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7917]
2. 2 [Option ID = 7918]
3. 3 [Option ID = 7919]
4. 4 [Option ID = 7920]

Correct Answer :-
e 2 [Option ID = 7917]
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[Question ID = 1981][Question Description = Q03_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7921]
2. 2 [Option ID = 7922]
3. 3 [Option ID = 7923]
4. 4 [Option ID = 7924]

Correct Answer :-
e 2 [Option ID = 7921]
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[Question ID = 1982][Question Description = Q04_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7925]
2. 2 [Option ID = 7926]
3. 3 [Option ID = 7927]
4. 4[Option ID = 7928]

Correct Answer :-

® 2 [Option ID = 7925]

Allmwrw1ed@ e )M BewWldHoemoe @Y HISOMOUW |G afOY
& \O 1w la@d?

(1) (BN d6MDa R@I6Mo U)Bcso (2) @2axedvsellwo
(3) G&fmm,')(ﬁ:do (4) AIEbo



[Question ID = 1983][Question Description = Q05_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7929]
2. 2 [Option ID = 7930]
3. 3 [Option ID = 7931]
4. 4 [Option ID = 7932]

Correct Answer :-
e 2 [Option ID = 7929]
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[Question ID = 1984][Question Description = Q06_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7933]
2. 2 [Option ID = 7934]
3. 3 [Option ID = 7935]
4. 4 [Option ID = 7936]

Correct Answer :-
e 2 [Option ID = 7933]
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[Question ID = 1985][Question Description = Q07_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7937]
2. 2 [Option ID = 7938]
3. 3 [Option ID = 7939]
4. 4 [Option ID = 7940]

Correct Answer :-
e 2 [Option ID = 7937]
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[Question ID = 1986][Question Description = Q08_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7941]
2. 2 [Option ID = 7942]
3. 3 [Option ID = 7943]
4. 4 [Option ID = 7944]
Correct Answer :-
e 2 [Option ID = 7941]

2 le0Dgs o legla ROl d\O2dHME  MVOMRYOOD 1003
@IORSOIAINEMMP MBI 2DOAIOAIW  BOWIIOMEAD MM &I

00w gldemoewd Goalles @dcemensologimo mlolesla) 2id)®
HO00D CRHD?

O af)o.&l.afm. mO@IWeMd @) ©IRWD 1D

(3 eHOUM 68 OMmIS @ af)o.BRD. @IRININIIO D

[Question ID = 1987][Question Description = Q09_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7945]
2. 2 [Option ID = 7946]
3. 3 [Option ID = 7947]
4. 4 [Option ID = 7948]



Correct Answer :-
e 2 [Option ID = 7945]
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[Question ID = 1988][Question Description = Q10_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7949]
2. 2 [Option ID = 7950]

3. 3 [Option ID = 7951]
4. 4 [Option ID = 7952]

Correct Answer :-
e 2 [Option ID = 7949]
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[Question ID = 1989][Question Description = Q11_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7953]
2. 2 [Option ID = 7954]
3. 3 [Option ID = 7955]
4. 4 [Option ID = 7956]

Correct Answer :-
e 2 [Option ID = 7953]
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[Question ID = 1990][Question Description = Q12_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7957]
2. 2 [Option ID = 7958]
3. 3 [Option ID = 7959]
4. 4 [Option ID = 7960]

Correct Answer :-

e 2 [Option ID = 7957]

M@ a000. Qflafl@o. awjmo af)mleasem o) @2dVEEEIW]
Slolow aflewdaila{laj
@ eemw] @  aamad
(3 DD 4 GRMMBUBLMOOD
[Question ID = 1991][Question Description = Q13_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7961]
2. 2 [Option ID = 7962]
3. 3 [Option ID = 7963]
4. 4 [Option ID = 7964]
Correct Answer :-

e 2 [Option ID = 7961]
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[Question ID = 1992][Question Description = Q14_Malayalam_SHAAN_3DEC_S1_Shift1]



1. 2 [Option ID = 7965]
2. 2 [Option ID = 7966]
3. 3 [Option ID = 7967]
4. 4 [Option ID = 7968]

Correct Answer :-
e 2 [Option ID = 7965]
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[Question ID = 1993][Question Description = Q15_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7969]
2. 2 [Option ID = 7970]
3. 3 [Option ID = 7971]
4. 4 [Option ID = 7972]

Correct Answer :-
e 2 [Option ID = 7969]
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[Question ID = 1994][Question Description = Q16_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7973]
2. 2 [Option ID = 7974]
3. 3 [Option ID = 7975]
4. 4 [Option ID = 7976]

Correct Answer :-
e 2 [Option ID = 7973]
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[Question ID = 1995][Question Description = Q17_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7977]
2. 2 [Option ID = 7978]
3. 3 [Option ID = 7979]
4. 4 [Option ID = 7980]

Correct Answer :-
e 2 [Option ID = 7977]
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[Question ID = 1996][Question Description = Q18_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7981]
2. 2 [Option ID = 7982]
3. 3 [Option ID = 7983]
4. 4 [Option ID = 7984]

Correct Answer :-
e 2 [Option ID = 7981]
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[Question ID = 1997][Question Description = Q19_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7985]
2. 2 [Option ID = 7986]
3. 3 [Option ID = 7987]
4. 4 [Option ID = 7988]

Correct Answer :-
e 2 [Option ID = 7985]
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[Question ID = 1998][Question Description = Q20_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7989]
2. 2 [Option ID = 7990]
3. 3 [Option ID = 7991]
4. 4 [Option ID = 7992]

Correct Answer :-
e 2 [Option ID = 7989]
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[Question ID = 1999][Question Description = Q21_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7993]
2. 2 [Option ID = 7994]
3. 3 [Option ID = 7995]
4. 4 [Option ID = 7996]

Correct Answer :-
e 2 [Option ID = 7993]
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[Question ID = 2000][Question Description = Q22_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 7997]
2. 2 [Option ID = 7998]
3. 3 [Option ID = 7999]
4. 4 [Option ID = 8000]

Correct Answer :-
e 2 [Option ID = 7997]
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[Question ID = 2001][Question Description = Q23_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8001]
2. 2 [Option ID = 8002]
3. 3 [Option ID = 8003]
4. 4 [Option ID = 8004]

Correct Answer :-
e 2 [Option ID = 8001]
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[Question ID = 2002][Question Description = Q24_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8005]
2. 2 [Option ID = 8006]



3. 3 [Option ID = 8007]
4. 4 [Option ID = 8008]

Correct Answer :-
e 2 [Option ID = 8005]
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[Question ID = 2003][Question Description = Q25_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8009]
2. 2 [Option ID = 8010]
3. 3 [Option ID = 8011]
4. 4 [Option ID = 8012]

Correct Answer :-
e 2 [Option ID = 8009]
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[Question ID = 2004][Question Description = Q26_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8013]
2. 2 [Option ID = 8014]
3. 3 [Option ID = 8015]
4. 4 [Option ID = 8016]

Correct Answer :-
e 2 [Option ID = 8013]
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[Question ID = 2005][Question Description = Q27_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8017]
2. 2 [Option ID = 8018]
3. 3 [Option ID = 8019]
4. 4 [Option ID = 8020]

Correct Answer :-
e 2 [Option ID = 8017]
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[Question ID = 2006][Question Description = Q28_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8021]
2. 2 [Option ID = 8022]
3. 3 [Option ID = 8023]
4. 4 [Option ID = 8024]

Correct Answer :-
e 2 [Option ID = 8021]
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[Question ID = 2007][Question Description = Q29_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8025]
2. 2 [Option ID = 8026]
3. 3 [Option ID = 8027]
4. 4 [Option ID = 8028]

Correct Answer :-
e 2 [Option ID = 8025]
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[Question ID = 2008][Question Description = Q30_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8029]
2. 2 [Option ID = 8030]
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]
Correct Answer :-

e 2 [Option ID = 8029]
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[Question ID = 2009][Question Description = Q31_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036]

Correct Answer :-
e 2 [Option ID = 8033]
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[Question ID = 2010][Question Description = Q32_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

Correct Answer :-
e 2 [Option ID = 8037]
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[Question ID = 2011][Question Description = Q33_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Correct Answer :-
e 2 [Option ID = 8041]
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[Question ID = 2012][Question Description = Q34_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8045]
2. 2 [Option ID = 8046]
3. 3 [Option ID = 8047]
4. 4 [Option ID = 8048]

Correct Answer :-
e 2 [Option ID = 8045]
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[Question ID = 2013][Question Description = Q35_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8049]
2. 2 [Option ID = 8050]
3. 3 [Option ID = 8051]
4. 4 [Option ID = 8052]

Correct Answer :-
e 2 [Option ID = 8049]
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[Question ID = 2014][Question Description = Q36_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

Correct Answer :-
e 2 [Option ID = 8053]
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[Question ID = 2015][Question Description = Q37_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]
Correct Answer :-

e 2 [Option ID = 8057]
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[Question ID = 2016][Question Description = Q38_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

Correct Answer :-
e 2 [Option ID = 8061]
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[Question ID = 2017][Question Description = Q39_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8065]



2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]
Correct Answer :-

e 2 [Option ID = 8065]
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[Question ID = 2018][Question Description = Q40_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8069]

2. 2 [Option ID = 8070]

3. 3 [Option ID = 8071]

4. 4 [Option ID = 8072]

Correct Answer :-

e 2 [Option ID = 8069]
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[Question ID = 2019][Question Description = Q41_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

Correct Answer :-
e 2 [Option ID = 8073]
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[Question ID = 2020][Question Description = Q42_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

Correct Answer :-



e 2 [Option ID = 8077]
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[Question ID = 2021][Question Description = Q43_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

Correct Answer :-
e 2 [Option ID = 8081]
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[Question ID = 2022][Question Description = Q44_Malayalam_SHAAN_3DEC_S1_Shift1]
. 2 [Option ID = 8085]
. 2 [Option ID = 8086]

. 3 [Option ID = 8087]
. 4 [Option ID = 8088]
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Correct Answer :-
e 2 [Option ID = 8085]
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[Question ID = 2023][Question Description = Q45_Malayalam_SHAAN_3DEC_S1_Shift1]



1. 2 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

Correct Answer :-

e 2 [Option ID = 8089]
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[Question ID = 2024][Question Description = Q46_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

Correct Answer :-
e 2 [Option ID = 8093]
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[Question ID = 2025][Question Description = Q47_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

Correct Answer :-
e 2 [Option ID = 8097]

#)6RUMDMMI00WP  OYEBLlOM™Yo  (aIMISTAIHNTN  (aIMMIUMEUD
IO 6BIS)HOM,

@  OM1a0NdMal)0I6MEBROSW o m@ela o MDY OOTM®o
manlecuwloflay)

®  meq@@®] meuslen)m Grealidmesnell cgdon

© SNBSS DMUMD VIIold]d:® 2]y

@ 0eIWIZEIHWYES MIGRIW (U\OD(HADBOE ©alc®IN )

WOIWIW (M @IUNGHD  afo@EI0?

1 (2 Qo (b Qo AI(@o 10D |



2 (2) 8o (b) Qo (c) Ho Ao 0D |
3 (2 9o b Oo (d) Ho Ao VD]
@ (2o (0 o (d) §o Ao D |
[Question ID = 2026][Question Description = Q48_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

Correct Answer :-
e 2 [Option ID = 8101]
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[Question ID = 2027][Question Description = Q49_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

Correct Answer :-
e 2 [Option ID = 8105]
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[Question ID = 2028][Question Description = Q50_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

Correct Answer :-
e 2 [Option ID = 8109]
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[Question ID = 2029][Question Description = Q51_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

Correct Answer :-
e 2 [Option ID = 8113]
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[Question ID = 2030][Question Description = Q52_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

Correct Answer :-
e 2 [Option ID = 8117]
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[Question ID = 2031][Question Description = Q53_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]

Correct Answer :-
e 2 [Option ID = 8121]
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[Question ID = 2032][Question Description = Q54_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

Correct Answer :-
e 2 [Option ID = 8125]
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[Question ID = 2033][Question Description = Q55_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8129]
2. 2 [Option ID = 8130]
3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

Correct Answer :-
e 2 [Option ID = 8129]
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[Question ID = 2034][Question Description = Q56_Malayalam_SHAAN_3DEC_S1_Shift1]

1. 2 [Option ID = 8133]
2. 2 [Option ID = 8134]



3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

Correct Answer :-
e 2 [Option ID = 8133]

Mg.2101MAL{IGI[OMEBBEHS RO TWIW N6Mo  HDOEENDSIHE))d>
1) EM]BHe&I0Do. (n1dev 2all. Blails. sosng]

2 008 (atav el HI0020MI0d 0. OMI &6 &I do

3 Gladld. cUM@dLL. EHIMMIOMIOB0. Mad YBW M & 0]

@ Blaild. 00dH0g]. OMU B0 EBDM)dho. Mad yBWOED & 0]

[Question ID = 2035][Question Description = Q57_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8137]
2. 2 [Option ID = 8138]
3. 3 [Option ID = 8139]
4. 4 [Option ID = 8140]

Correct Answer :-
e 2 [Option ID = 8137]
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[Question ID = 2036][Question Description = Q58_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

Correct Answer :-
e 2 [Option ID = 8141]
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[Question ID = 2037][Question Description = Q59_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8145]

2. 2 [Option ID = 8146]

3. 3 [Option ID = 8147]

4. 4 [Option ID = 8148]

Correct Answer :-

e 2 [Option ID = 8145]
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[Question ID = 2038][Question Description = Q60_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8149]

2. 2 [Option ID = 8150]

3. 3 [Option ID = 8151]

4. 4 [Option ID = 8152]

Correct Answer :-

e 2 [Option ID = 8149]
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[Question ID = 2039][Question Description = Q61_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

Correct Answer :-
e 2 [Option ID = 8153]
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[Question ID = 2040][Question Description = Q62_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

Correct Answer :-
e 2 [Option ID = 8157]
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[Question ID = 2041][Question Description = Q63_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8161]
2. 2 [Option ID = 8162]
3. 3 [Option ID = 8163]
4. 4 [Option ID = 8164]

Correct Answer :-
e 2 [Option ID = 8161]
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[Question ID = 2042][Question Description = Q64_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

Correct Answer :-
e 2 [Option ID = 8165]
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[Question ID = 2043][Question Description = Q65_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

Correct Answer :-
e 2 [Option ID = 8169]
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(4) (A)-(V). (B)-(IV). (C)-(III). (D)-(IT)

[Question ID = 2044][Question Description = Q66_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

Correct Answer :-

e 2 [Option ID = 8173]
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[Question ID = 2045][Question Description = Q67_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8177]



2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

Correct Answer :-
e 2 [Option ID = 8177]
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[Question ID = 2046][Question Description = Q68_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

Correct Answer :-
e 2 [Option ID = 8181]
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[Question ID = 2047][Question Description = Q69_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

Correct Answer :-
e 2 [Option ID = 8185]
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3 (A)-OV). (B)-(D). (CO)-(ID. (D)-(IIL)
4) (A4)-ID). (B)-(I1I), (C)-(I). (D)-(V)

[Question ID = 2048][Question Description = Q70_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

Correct Answer :-
e 2 [Option ID = 8189]
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[Question ID = 2049][Question Description = Q71_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]



4. 4 [Option ID = 8196]

Correct Answer :-
e 2 [Option ID = 8193]
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W) €ald0d @emellm

Cdh Wb (D :

(1) (A)-(V), (B)~(ITD). (C)~(T). (D)-(IT)
(2) (A)-(ID). (B)-(III). (C)-(IV). (D)-(I)
(3) (A)-(III). (B)-(IV). (C)-(II). (D)-(T)
(4) (A)-(IV). (B)-(II). (C)-(V). (D)-(I)

[Question ID = 2050][Question Description = Q72_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8197]
2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

Correct Answer :-
e 2 [Option ID = 8197]
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(1) (A)-(IV). (B)-(III). (C)-(IT). (D)-(V)
(2) (A)-ID). (B)-(D). (C)-(IID). (D)-(V)
(3) (A)-(IID). (B)-(V). (C)-(II). (D)~(I)
(4) (A)-(IV). (B)-(IID). (C)-(II). (D)-(I)

[Question ID = 2051][Question Description = Q73_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8201]
2. 2 [Option ID = 8202]
3. 3 [Option ID = 8203]
4. 4 [Option ID = 8204]

Correct Answer :-
e 2 [Option ID = 8201]
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(D (A-AV). (B)-D). (C)-(D. (D)-(IID)
(2) (A)-(IL). (B)-(I). (C)-(I1I). (D)-(IV)

(3) (A)-(V). (B)-(IID). (C)-(I). (D)-(II)
(4) (A)-(IV). (B)-(III). (C)-(I). (D)-(IT}



[Question ID = 2052][Question Description = Q74_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8205]
2. 2 [Option ID = 8206]
3. 3 [Option ID = 8207]
4. 4 [Option ID = 8208]

Correct Answer :-
e 2 [Option ID = 8205]
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[Question ID = 2053][Question Description = Q75_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8209]
2. 2 [Option ID = 8210]
3. 3 [Option ID = 8211]
4. 4 [Option ID = 8212]

Correct Answer :-
e 2 [Option ID = 8209]
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[Question ID = 2054][Question Description = Q76_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8213]
2. 2 [Option ID = 8214]
3. 3 [Option ID = 8215]
4. 4 [Option ID = 8216]

Correct Answer :-
e 2 [Option ID = 8213]
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[Question ID = 2055][Question Description = Q77_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8217]
2. 2 [Option ID = 8218]
3. 3 [Option ID = 8219]
4. 4 [Option ID = 8220]

Correct Answer :-
e 2 [Option ID = 8217]
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D) ©loemigo

OO WO 00 HDOEEIMS)HE))D :

(1) (A). (C). (D). (B)
(2) (A). (D). (B). (C)
(3) (C). (B). (D). (A)
(4) (D). (A). (C). (B)
[Question ID = 2056][Question Description = Q78_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8221]
2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4. 4 [Option ID = 8224]

Correct Answer :-
e 2 [Option ID = 8221]

130890005  Zlafloaye ®@ememEgle GRS [)$00)
SIS VO IWIW N6Mo  HDMDEETINS)H6)) >

1 eaddleind. mil.adl. (@ooam. mamad. adllmwad
@ ey alafl. (@ooam. ald0ayoom . afl.s)l. mms)add
3 eddfleimd. mammId. ald0aj00m) . Aflmwad

@  edodleind. mul.all. @losan. envoand. allmwed

[Question ID = 2057][Question Description = Q79_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8225]
2. 2 [Option ID = 8226]
3. 3 [Option ID = 8227]
4. 4 [Option ID = 8228]

Correct Answer :-
e 2 [Option ID = 8225]
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[Question ID = 2058][Question Description = Q80_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8229]
2. 2 [Option ID = 8230]
3. 3 [Option ID = 8231]
4. 4 [Option ID = 8232]

Correct Answer :-
e 2 [Option ID = 8229]
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[Question ID = 2059][Question Description = Q81_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8233]
2. 2 [Option ID = 8234]
3. 3 [Option ID = 8235]
4. 4 [Option ID = 8236]

Correct Answer :-
e 2 [Option ID = 8233]
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[Question ID = 2060][Question Description = Q82_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8237]
2. 2 [Option ID = 8238]
3. 3 [Option ID = 8239]
4. 4 [Option ID = 8240]
Correct Answer :-

e 2 [Option ID = 8237]
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[Question ID = 2061][Question Description = Q83_Malayalam_SHAAN_3DEC_S1_Shift1]

1. 2 [Option ID = 8241]

2. 2 [Option ID = 8242]

3. 3 [Option ID = 8243]

4. 4[Option ID = 8244]

Correct Answer :-

e 2 [Option ID = 8241]
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[Question ID = 2062][Question Description = Q84_Malayalam_SHAAN_3DEC_S1_Shift1]

1. 2 [Option ID = 8245]

2. 2 [Option ID = 8246]

3. 3 [Option ID = 8247]

4. 4 [Option ID = 8248]

Correct Answer :-

e 2 [Option ID = 8245]
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[Question ID = 2063][Question Description = Q85_Malayalam_SHAAN_3DEC_S1_Shift1]
. 2 [Option ID = 8249]
. 2 [Option ID = 8250]
. 3 [Option ID = 8251]
. 4 [Option ID = 8252]

A wWwN =

Correct Answer :-
e 2 [Option ID = 8249]
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[Question ID = 2064][Question Description = Q86_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8253]
2. 2 [Option ID = 8254]
3. 3 [Option ID = 8255]
4. 4 [Option ID = 8256]

Correct Answer :-
e 2 [Option ID = 8253]
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[Question ID = 2065][Question Description = Q87_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8257]
2. 2 [Option ID = 8258]
3. 3 [Option ID = 8259]
4. 4 [Option ID = 8260]

Correct Answer :-
e 2 [Option ID = 8257]
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[Question ID = 2066][Question Description = Q88_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8261]
2. 2 [Option ID = 8262]
3. 3 [Option ID = 8263]
4. 4 [Option ID = 8264]

Correct Answer :-
e 2 [Option ID = 8261]
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[Question ID = 2067][Question Description = Q89_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8265]
2. 2 [Option ID = 8266]
3. 3 [Option ID = 8267]



4. 4 [Option ID = 8268]

Correct Answer :-
e 2 [Option ID = 8265]
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[Question ID = 2068][Question Description = Q90_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 2 [Option ID = 8269]
2. 2 [Option ID = 8270]
3. 3 [Option ID = 8271]
4. 4 [Option ID = 8272]

Correct Answer :-
e 2 [Option ID = 8269]
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[Question ID = 2069][Question Description = Q91_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8273]
2. 2 [Option ID = 8274]
3. 3 [Option ID = 8275]
4. 4 [Option ID = 8276]

Correct Answer :-
e 1 [Option ID = 8273]
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[Question ID = 2070][Question Description = Q92_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8277]
2. 2 [Option ID = 8278]
3. 3 [Option ID = 8279]
4. 4 [Option ID = 8280]

Correct Answer :-
e 1 [Option ID = 8277]
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[Question ID = 2071][Question Description = Q93_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8281]
2. 2 [Option ID = 8282]
3. 3 [Option ID = 8283]
4. 4 [Option ID = 8284]

Correct Answer :-
e 1 [Option ID = 8281]
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[Question ID = 2072][Question Description = Q94_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8285]
2. 2 [Option ID = 8286]
3. 3 [Option ID = 8287]
4. 4 [Option ID = 8288]

Correct Answer :-
e 1 [Option ID = 8285]
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[Question ID = 2073][Question Description = Q95_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8289]
2. 2 [Option ID = 8290]
3. 3 [Option ID = 8291]
4. 4 [Option ID = 8292]

Correct Answer :-
e 1 [Option ID = 8289]

Topic:- Malayalam_SET1_C
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[Question ID = 2074][Question Description = Q96_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8293]
2. 2 [Option ID = 8294]
3. 3 [Option ID = 8295]
4. 4 [Option ID = 8296]
Correct Answer :-

e 1 [Option ID = 8293]
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[Question ID = 2075][Question Description = Q97_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8297]
2. 2 [Option ID = 8298]
3. 3 [Option ID = 8299]
4. 4 [Option ID = 8300]

Correct Answer :-
e 1 [Option ID = 8297]
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[Question ID = 2076][Question Description = Q98_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8301]
2. 2 [Option ID = 8302]
3. 3 [Option ID = 8303]
4. 4 [Option ID = 8304]

Correct Answer :-
e 1 [Option ID = 8301]
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[Question ID = 2077][Question Description = Q99_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8305]
2. 2 [Option ID = 8306]
3. 3 [Option ID = 8307]
4. 4 [Option ID = 8308]

Correct Answer :-
e 1 [Option ID = 8305]
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[Question ID = 2078][Question Description = Q100_Malayalam_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8309]
2. 2 [Option ID = 8310]
3. 3 [Option ID = 8311]
4. 4 [Option ID = 8312]

Correct Answer :-
e 1 [Option ID = 8309]

Topic:- 03rd_Set7_A

1) The following Table.I shows the Sales and Earnings of ABC Corporation in the last
eight years from 2013-2020. and Table-Il shows the percentage of Sales in four
different categories in the vear 2020. Based on the data in the tables. answer the

questions :
Table — I : Year—wise Sales and Earnings
Vear | . _Sales _ Earnings
- (in Rs. Billion) | (in Rs. Million)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600
Table —II : Category-wise sales in the yvear 2020
Category Percentage (%) of Sales
Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What is the average (in ¥ billions) of the sales of ABC Corporation for the period 2013-2020?
@ 55 @ 6.0
(3) 7.0 4 80

1= 71 e Arfern vl H, FwneE =g 2013-2020 % EE A an) i fash o # g 2 A

Atferrr I1 =19 2020 Tarshl % Tiard =6l =W 37e—He A0 § 520al 2 | arferh § 150 T Sdis] % A

I lEEDl e
(=. Taiterm) | (=, Tafere)

2013 3 500
2014 [§] 900
2015 o] 200
2016 7 400
2017 5 700
2018 9 800
2019 ] 700
2020 10 600

Arferr — 11 : Sufime, & 2020 3 faga

| Tahi =i fqmadr (%)
FEgA 25%
At 20%
2 40%
a7 15%

a9 2013-2020 Fi AT F 0 v s =, Fowen i G oAEa (5. e |5) ' e

1) 55 @ 6.0

(3) 7.0 4y 8.0

[Question ID = 2579][Question Description = Q01_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10313]
2. 2 [Option ID = 10314]
3. 3 [Option ID = 10315]
4. 4 [Option ID = 10316]

Correct Answer :-



e 1 [Option ID = 10313]

2) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight years from 2013-2020. and Table-Il shows the percentage of Sales in four

different categories in the year 2020. Based on the data in the tables. answer the

questions :
Table — I : Year—wise Sales and Earnings
Year | . Sales _ Earnings
(in Rs. Billion) | (in Rs. Million)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600
Table —II : Category-wise sales in the vear 2020
Category Percentage (%) of Sales
Computers 25%
TVsa 20%
Smartphones 40%
Miscellaneous 15%

For which year was the percentage (%) increase in earnings from the previous year highest?
(1) 2014 (2) 2015

(3) 2016 (4) 2017

I F1 T2 At oAl L wmteE F ad 2013-2020 % T e a6 6 el 310 ST H g & A
At 11 =9 2020 Tashi # Tiaod = =R 236w -31e0 A0 § 59 2 | Ao § 50 T S 1Ee] % A

E g h"(’?—im

(=. Tafers=) | (=, fafem)
2013 ] 500
2014 [§] 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 3 700
2020 10 G600

Aferrt — II : #ofrma, = 2020 5 s

T | Ta i ol (%)
= 25%
At 20%
T 40%
ES] 15%

oFm 9 & g 9 e | W (%) Jhg mEr ot

1 2014 @ 2015
(3) 2016 4 2017

[Question ID = 2580][Question Description = Q02_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10317]
2. 2 [Option ID = 10318]
3. 3 [Option ID = 10319]
4. 4 [Option ID = 10320]

Correct Answer :-
e 1 [Option ID = 10317]

3) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight years from 2013-2020. and Table-Il shows the percentage of Sales in four
different categories in the year 2020. Based on the data in the tables. answer the

questions :
Table — I : Year—wise Sales and Earnings
Year | . _Sales _ Earnings
“" | in Rs. Billion) | (in Rs. Million)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600

Table —II : Categorv-wise zales in the vear 2020

T o B A Picasiriid e ey FOEY ST R
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Computers 25%

TVs 20%
Smartphones 40%
Miscellaneous 15%

What was the ratio of earnings to sales in 20157

1 25:1 @2 1:4

(3) Fix2h 4y 1:40

Fr= F1 T2 Ao oA L wEneE F A9 2013-2020 % T s Jw 6 el o7 o 6 oge & A
At 11 =9 2020 s % T = =R 3o - e AP0 § 5 2 | Ao § 50 T SAES] % AT

Eonr— gt h"(’?—im

(%. faferm) | (5. falee=)
2013 3 500
2014 [§] 900
2015 8 200
2016 7 400
2017 b 700
2018 9 200
2019 ] 700
2020 10 600

Aterrt — L1 : #ofima, =9 2020 5 o

| Taht i wfaeaa (%)
T 25%
2. 20%
T FH 40%
ES 15%

7 2015 7 57/ 791 feohl F == F1 1T 7 a1

1 2:1 @ 1:4
3 1:95 (4) 1:40

[Question ID = 2581][Question Description = Q03_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10321]
2. 2 [Option ID = 10322]
3. 3 [Option ID = 10323]
4. 4[Option ID = 10324]

Correct Answer :-
e 1 [Option ID = 10321]

4) The following Table-I shows the Sales and Earnings of ABC Corporation in the last

eight years from 2013-2020. and Table-Il shows the percentage of Sales in four
different categories in the year 2020. Based on the data in the tables. answer the

questions :
Table — I : Year—wise Sales and Earnings
Year | . Sales _ Earnings
(in Rs. Billion) | (in Rs. Million)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600
Table —II : Category-wise sales in the vear 2020
Category Percentage (%) of Sales
Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

Which of the following statements can be deduced from the data given in the Tables I and II?
(A) Sales of Smartphones in the yvear 2020 exceeded total sales in the year 2013.

(B) Earnings for the yvear in which earnings were highest were more than the sales for the
year in which sales were lowest.

(C) If in the vear 2020. the sales of Smartphones had been 10% less., and the sale of
Computers had been 10% higher, then the sales of Smartphones would have been less
than the sales of Computers.



Choose the correct answer from the options given below :
(1) (A only (2) (A) and (B) only
3) (A) and (C) only (4) (C) only
1 21 e Arfern vl =, FwieE F ad 2013-2020 % TR A a6 e o am # g # e

Atferrt I1 =19 2020 Tarshl % Tia9rd =6l =W S7e—He A0 § 520a 2 | arferh § 50 T siEs] % A

% {EEDl T
(%. farferr) | (. fafeem)

2013 3 500
2014 [§] 900
2015 8 200
2016 7 400
2017 5 700
2018 9 200
2019 a] 700
2020 10 G600

Arferr — 11 : Sufime, & 2020 3 faga

| Tehi =i fqmadr (%)
FEAI 25%
2. 20%
T R 40%
o= 15%

Tefertiga | | A A@1/@ e Ao 1w LA {20 10 stihs & saman w0 FHmfia B s awar 27

(A) =¥ 2020 ¥ 72 TEEA i TR, 2013 i Fet Tt 7 erfa o)

B) TG 3 AT a9 A ge A A (R A Ay § g3 el @ st o |

(C) = W =¥ 2020 % wEFE i faht 10 wiowd w0 724 =1 317 gz F1 o 10 wfaem wfas w2

T Fg 1 Tehl 1 qer 7 FEEE A e 7 g A

Hr= fam T fape | | WE 3w = e

1) FEA) (2) Fad (A) 37 (B)
(3 Faw (A) 3 (C) @ ¥ (C)

[Question ID = 2582][Question Description = Q04_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10325]
2. 2 [Option ID = 10326]
3. 3 [Option ID = 10327]
4. 4 [Option ID = 10328]

Correct Answer :-
e 1 [Option ID = 10325]

5) The following Table I shows the Sales and Earnings of ABC Corporation in the last
eight years from 2013-2020. and Table-Il shows the percentage of Sales in four
different categories in the vear 2020. Based on the data in the tables. answer the

questions :
Table — I : Year—wise Sales and Earnings
Vear | . _oales _ Earnings
- (in Rs. Billion) | (in Rs. Million)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600
Table —II : Category-wise sales in the year 2020
Category Percentage (%) of Sales
Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What is the sum total (in ¥ millions) of the earnings of ABC Corporation for the period

2013-2019?
(1) 4800 (2) 4200
(3) 4000 (4) 5000

1 21 E Ao v FheE F A 2013-2020 F TR e aw # e o o F g & e
At 11 =9 2020 s % T = =R 3o - e AP0 § 5 2 | Ao § 50 T SAES] % AT



< {EEDl T
(=. Taiterm) | (=, Tafere)

2013 3 500
2014 5] 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 3 700
2020 10 @00

Arferr — 11 : Sufime, & 2020 3 faga

F | fohi 1wt (%)
F 25%
B 20%
wE FH 40%
3= 15%
7 2013-2019 i 1ty % T vl =, Fiarem 6 @79 F1 Fa a0 (5. Heea 1) 7= e v
(1) 4800 (2) 4200
(3) 4000 (4) 5000

[Question ID = 2583][Question Description = Q05_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10329]
2. 2 [Option ID = 10330]
3. 3 [Option ID = 10331]
4. 4 [Option ID = 10332]

Correct Answer :-
e 1 [Option ID = 10329]

Topic:- 03rd_Set7_B

") Which of the following level of teaching lays stress on critical sifting of ideas at the highest
cogmitive level?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level
fefatea @ foam =1 FF @ w6 SeEan GuEeEE T W e F A JAR T WA
Fm R?
(1) = =W (2)  =TETETE
(3)  Tomeft famw = (4) vEFm EFE =

[Question ID = 2584][Question Description = Q06_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10333]
2. 2 [Option ID = 10334]
3. 3 [Option ID = 10335]
4. 4 [Option ID = 10336]

Correct Answer :-
e 1 [Option ID = 10333]

Which of the following are the highest taxonomic categories in the cognitive. affective and
psychomotor domains of learning?

(A) Analysis

(B) Evaluation

(C) Awareness

(D) Characterization

(E) Naturalization

Choose the correct answer from the options given below :
(1) (A). (B) and (C) only (2)  (B). (D) and (E) only
(3) (B). (C) and (D) only (4) (C). (D) and (E) only

F=AtaRad 5 | FF O ST, SETHF ST e AT A § Soaad aied ST A ¢

A favemm
®) T
(C) s

D) e
(E)  @mstim
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(1)  Fa=A). (B) R (C) (2) Fa (B), (D) w1 (E)
(3) F4 B). (O) = (D) @) Fa (C). (D) #% (B)

[Question ID = 2585][Question Description = Q07_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10337]
2. 2 [Option ID = 10338]
3. 3 [Option ID = 10339]
4. 4 [Option ID = 10340]

Correct Answer :-
e 1 [Option ID = 10337]

Match List I with List IT
ListI List IT
Helping behavior of effective teaching Description

(A) Using student ideas of contributions ()  Warm and nurturing relationship with
learners

(B) Structuring (IT) Teacher statements to encourage
students to elaborate on an answer

(C) Probing (ITI) Teacher comments for the purpose of
organizing what is to come

(D) Teacher affect (IV) Taking a student's response and
repeating or applying it

Choose the correct answer from the options given below :

1) (A)-IV). (B)-ID). (C)-AD)., (D)-@O)
@  @-D. B®)-1D. (O)-III). (D)-(IV)
(3)  A)-aD. B)-D. (O)-aV). (D)-A1D)
@) (A, (B)-(IV). (C)-M. MD)-(aI)

Tl 1 = =g g=i-I1 1 He it

=11 AL
Tt foem % dEeE =aEn T
(A) Tl = TrEEl F =R w S (I)  wAFrTaFalsTl % W19 g U AT e
(B) T (II) =¥ = Toegd =4 + 0, Sl F1 Aot
(C) wr=-T3ame (ITD) =9I 1 =2 o = 3599 o S5
(D) =TT T (IV) =1 % Uegel &1 =4 50 SHh AEm #h
ST

Fr T3 T Tl © | WE I S A

(1) (A)-(IV), (B)-(IIT). (C)-(II). (D)-(I)

(2) (A)-(I). (B)-(II). (C)-(IID). (D)-(IV)

(3) (A)-(II). (B)-(I). (C)-(IV). (D)-(III)

(4) (A)-(IIT). (B)-(IV). (C)-(I). (D)-(IT)
[Question ID = 2586][Question Description = Q08_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10341]
2. 2 [Option ID = 10342]

3. 3 [Option ID = 10343]
4. 4 [Option ID = 10344]

Correct Answer :-
e 1 [Option ID = 10341]

Given below are two statements :

Statement I: In norm-referenced testing of students. test data helps us determine a

students place or rank.

Statement IT: In Criterion-referenced testing. the test data tells us about a student’s level

of proficiency.
In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false



(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

o e fou e E

Fo () :  Toremtomt = T mefia wiem 8, ohem sime et 5 w=m @ ool =1 fuifE == 4 2o

B EEGIRETGI] _}» |
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(2) FRIACIISHIIE |
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[Question ID = 2587][Question Description = Q09_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10345]
2. 2 [Option ID = 10346]
3. 3 [Option ID = 10347]
4. 4 [Option ID = 10348]

Correct Answer :-
e 1 [Option ID = 10345]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): Modern and ICT based teaching support requires some technical

knowledge on the part of the teacher and learner.

Reasons (R) : Both teachers and learners have to be provided orientation in use of the

various support tools and techniques in an intelligent way.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

4) (A) is false but (R) is true

= E e fem o 1'.':‘:5Hﬁﬁﬁ%(AssertionA)#?ﬂﬁfﬁﬁﬂﬁ%ﬁ%%W@% T (ReasonR)’tﬁ

=q

T .

S (A) : 1o el e e o | M o e 0 e o i e s o el

F5 THATR] [ o AT ST B |

=1 (R) Tz it sfarmratst 3T F1 199 TErE STFT a9 T % TaEEE 2 o

IR FeE F A H, A9 30 T A § 9 e ST 39 2 A

(1)
(2)
(3)

(€3]

(&) 31 (R) 31 & # 3R (R), (A) 1 e =ame 2|
(&) 31 (R) 31 5 2 =6 (R), (A) F 5781 =men 7 2|
(A) & & = (R) 5807 2 |

(A) 35 2 i (R) & 21

[Question ID = 2588][Question Description = Q10_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10349]
2. 2 [Option ID = 10350]



3. 3 [Option ID = 10351]
4. 4 [Option ID = 10352]

Correct Answer :-
e 1 [Option ID = 10349]

6)  Which of the following iz an example of qualitative research?
(1) Experimental research (2) Ex post facto research
(3) Descriptive survev research (4) Grounded theory research

ffeafiga & @ =19 |1 T W HTH ISR A ¢

(1)  TEFTEEE 9y (2) FEEE A
(8)  TEEromerE wEs wa (4)  smaTier faRaiATeR My

[Question ID = 2589][Question Description = Q11_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10353]
2. 2 [Option ID = 10354]
3. 3 [Option ID = 10355]
4. 4 [Option ID = 10356]

Correct Answer :-
e 1 [Option ID = 10353]

Identify from the list below the threats to internal validity of research.
(A) Interaction of selection and independent variable (X)

(B) Statistical regression

(C)  Interaction of pretesting and X

(D)  Differential selection of subjects

(E)  Experimental mortality

Choose the correct answer from the options given below :
1) (B). (D) and (E) only (2)  (A). (B) and (C) only
(3) (B). (C) and (D) only 4y (C). (D) and (E) only
#= © E geh § § wEeE it T e i sEtes a6 wE w5 e B 7
(A) = I e 3 = = (X)
(B)  =ifesm wiamE
(C)  yEwIEm T s o X
(D) Taw=i 1 st =
(E)  wmEitT fasern

= fou o fawedl ® 9 A 39w = i

(1) = (B). (D) 3R (E) (2)  =Fae (A). (B) 5 (C)
(3) A (B). (C) 31 (D) (4) Fa (C). (D) ¥ (E)

[Question ID = 2590][Question Description = Q12_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10357]
2. 2 [Option ID = 10358]
3. 3 [Option ID = 10359]
4. 4 [Option ID = 10360]

Correct Answer :-
e 1 [Option ID = 10357]

8) Match List T with List IT
List I List IT
Research Steps Characteristics
(A) Research problem definition (I) Appropriateness of techniques and
their application
(B) Formulation of research hypothesis (I) Development of a conceptual

framework which is in accord with
hypothesis of research

(C) Design of research (IIT) Defining the variables to be related in
unambiguous terms
(D) Data Analysis (IV) Academic and social value of the

research question to be weighed

Choose the correct answer from the options given below :

e AN STTTY s ST sy Ty TRy ST



b . e e M b Sl s e
2 (A-IV). (B)-II). (C)-ID. D)-D
3 @-D. B)-ID. (O)-IID). (D)-(IV)
@ A-ID. (B)-D. (©)-aV). (D)-IID)

g1 % g g=i-I1 &1 foem fifem
T il
e % = oA
(&) e FEE i i (I) AT 1 STIFTAT ST 39 ST
(B) =Y TR W FHE (I) =% FFEEOTEF G w1 A A T #)
T % HTET 2 |
(C) e = T (ITT) =AT =i YoTE Srearae] H qieree = |
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e |
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(1) (A)-(TII). (B)-(IV). (C)-(I). (D)-(II)

(2) (A)-(IV), (B)-(IIT). (C)-(II). (D)-(I)

(3) (A)-(I). (B)-(II). (C)~(III). (D)-(IV)

(4) (A)-(II). (B)-(I), (C)-(IV), (D)-(III)
[Question ID = 2591][Question Description = Q13_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10361]
2. 2 [Option ID = 10362]

3. 3 [Option ID = 10363]
4. 4 [Option ID = 10364]

Correct Answer :-
e 1 [Option ID = 10361]

Given below are two statements :

Statement I: Scientific research 1z systematic. controlled. empirical and ecritical

investigation of hypothetical propositions.

Statement II: Population of research need not be defined in qualitative and quantitative

researches.
In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

AT FA RS
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[Question ID = 2592][Question Description = Q14_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10365]



2. 2 [Option ID = 10366]
3. 3 [Option ID = 10367]
4. 4 [Option ID = 10368]

Correct Answer :-
e 1 [Option ID = 10365]

10) Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A):  Actual settings are the direct source of data and the researcher is the key
instrument in qualitative research.
Reasons (R) : The purpose underlying qualitative researches is relatively more directed

at depiction of reality rather than arriving at context free generalizations.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) iz NOT the correct explanation of (A)
(3) (A) 1s true but (R) is false

(4) (A) is false but (R) is true

= 21 e fam o # ;v sAfeeRee (Assertion A) W =4 H fafigd 2 o1 380 58% A0 (Reason R)

AfaFY (A) : AT Ui ATRST % ToAE |G B AN Tl TOMcas T W geT 3T 2 |
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[Question ID = 2593][Question Description = Q15_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10369]
2. 2 [Option ID = 10370]
3. 3 [Option ID = 10371]
4. 4 [Option ID = 10372]

Correct Answer :-
e 1 [Option ID = 10369]

In describing elements of communication. a person or an event which provides verbal or
non-verbal use to which someone can respond is known as,

(1) Message (2) Source
(3) Channel (4) Communication context

HIAY Al F G0 H, UF =G SUE TH-HeA R 4 N AENEE S6a SUesd FE e W
TRt % gr afatEaT 4 S T B, e ST 2 —

L T @ wm
(3  TmEE (=) (4) FHuwo ey

[Question ID = 2594][Question Description = Q16_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10373]
2. 2 [Option ID = 10374]
3. 3 [Option ID = 10375]
4. 4 [Option ID = 10376]

Correct Answer :-
e 1 [Option ID = 10373]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :



Assertion (A):  Agenda building is a collective communication process in which media.
government and the citizenry reciprocally influence one another.

Reasons (R) : Agenda building presumes cognitive effects and inactive audience with less
socletal-level effects.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

=|°F:I?1T F24 o8 70 2 : v AqET (Assertion A) F =9 # Teifiga 2 & 550 39% FA0 (Reason R)
=

ATTFA (A) : FF g FE v wgteE wen - @ e Hitew e Hi anieE g
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S FA F AE |, A= S T fawedl § # wE 56 1 =551 i

(1)  (A) 37 (R) 5F1 =ea 2 371 (R). (A) i 92 =men 2 |
2 (A) ¥ (R) 21 @ed 2 =it (R). (A) F1 T8t =3men 74 2 |
(3) (A) Teq 2 e (R) 919 2 |

4 (A) 7979 & == (R) &3 2|

[Question ID = 2595][Question Description = Q17_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10377]
2. 2 [Option ID = 10378]
3. 3 [Option ID = 10379]
4. 4 [Option ID = 10380]

Correct Answer :-
e 1 [Option ID = 10377]

Given below are two statements :

Statement I: The art of Mass Communication is much more simple than of face to face

communication or any type of communication.

Statement II: Each of us uses 3S (Sight. Sound and Smell) and 2T (Touch and Taste) when

we communicate with others.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

9 3 A feo o -

FY () :  SHHER i e GEEE FE S o R TR o e e st W #

FoA (D) : = =9 FE & W HI9 A & 2AE @ 0 3S (32, e ¥ ) 9o 2T (v 57 e
T T AT E |

IO FUA % A °, A9 50 e fame | w8 39 6 =9 e
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(2) = I3 3 e 2 |
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[Question ID = 2596][Question Description = Q18_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10381]
2. 2 [Option ID = 10382]
3. 3 [Option ID = 10383]
4. 4 [Option ID = 10384]

Correct Answer :-
e 1 [Option ID = 10381]

Feedback reflects the reactions of the audience when :

(A) One knows the effects of communication.
(B) One knows the quality of content of the message.
(C) One knows the future prospect of the object of communication.

(D) One knows the financial implications of the communication.

Choose the most appropriate answer from the options given below :

1) (A).(B). (D) only (2)  (B). (D). (C) only
(3)  (A).(C). (D) only @ (A B). (C) only

(A) IS HUYY % WHIE Bl AHAT A

(B) 1S Hezr % fererg i R 1 A 2

(C) = Tumw i =g F WAe i BAEAE H TG A
(D) S AU A e A 2

= fou T el d B e ST 3 S =AA R
1) ¥ (A). (B). D) 2 F= (B). (D). (O)
@) F= (A). (O). D) (4) A (A). (B). (O)

[Question ID = 2597][Question Description = Q19_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10385]
2. 2 [Option ID = 10386]
3. 3 [Option ID = 10387]
4. 4 [Option ID = 10388]

Correct Answer :-
e 1 [Option ID = 10385]

The power which comes through connectedness of one’s words matching one's feelings, body
and facial expression in communication process is known as :

(1) Conformity (2) Congruence

(3) Collaboration (4) Control

=7 T H HIEOT S W § R Il 3R e SrEe # e, T AN aEe e % 5aed o
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[Question ID = 2598][Question Description = Q20_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10389]
2. 2 [Option ID = 10390]
3. 3 [Option ID = 10391]
4. 4 [Option ID = 10392]

Correct Answer :-
e 1 [Option ID = 10389]

The owner of a mobile phone charges his customer 25% more than the cost price. If a
customer paid 8.000/- for a mobile phone. then what was the cost price of the mobile?

(1)  Re. 5600 (2) Rs. 6000
(8)  Rs. 6400 (4) Rs. 7000

AIETEA T G qEE W AE oA F25% AT 0 7 | R A A A@me $4 % o 8,000/
T T A T, A1 ATSSE o e w91t

(1) 5600/- ¥1T (2) 6000/ =91

(3) 6400/- Tu2 (4)  7000/- =0T

[Question ID = 2599][Question Description = Q21_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10393]



2. 2 [Option ID = 10394]
3. 3 [Option ID = 10395]
4. 4 [Option ID = 10396]

Correct Answer :-
e 1 [Option ID = 10393]

17) .
In the letter series
B.HREF. .o
What is the next letter?
(1) i @ Z
3 P 4 X

B.H,R.F. .... ... ¥ %° § &FTeT #1&7 $H-91 20 ?

1 L @ Zz
3 P 4 X

[Question ID = 2600][Question Description = Q22_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10397]
2. 2 [Option ID = 10398]
3. 3 [Option ID = 10399]
4. 4 [Option ID = 10400]

Correct Answer :-
e 1 [Option ID = 10397]

Given the relationship between variables Y and X : Y = X2 if X changes by 6%. What is the
percentage change in Y?

1)  ~36% @ ~12%
3 ~8% ) ~6%

Y 3 X % o9 1 8599 Y = X> % ¥9 H 2| 30 X H 6% F A @, a1 Y 7 qfewm (%) Thawd

7
1 ~36% @ ~12%
(3 ~8% @ ~6%

[Question ID = 2601][Question Description = Q23_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10401]
2. 2 [Option ID = 10402]
3. 3 [Option ID = 10403]
4. 4 [Option ID = 10404]

Correct Answer :-
e 1 [Option ID = 10401]

A man travels in a car from point A to point B and covers a distance of 120 km. During the
first 40 km. the speed of his car is 50 km/hr and for the rest of journey the speed of his car is
60 km/hr. What is the average speed of his ear from point A to point B?

(1) 55 km/hr (2)  54.25 km/hr

(3) 56.25 km/hr (4) 58.25 km/hr

uF =g g A H T3 B % df= 120 fFeder 1 g0 FF 9 79 #a # | 7R T 40 B # 2

el T o TG 50 FReE af Te A A 9 20 % o 60 feeie ufhEe, b fag Ad g BF s

(1) 55 FRI.E (2) 54.25 5. /G
(3  56.25 f. /A (@) 58.25 F.dr./Ew

[Question ID = 2602][Question Description = Q24_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10405]
2. 2 [Option ID = 10406]
3. 3 [Option ID = 10407]
4. 4 [Option ID = 10408]

Correct Answer :-
e 1 [Option ID = 10405]

20) In the series
IBL 0 1 ——
What 1s the next term?
(1) 12 (2) 15
(3) 18 4) 20

1,3.6.10. ......... & %0 T IFTT 37F A

ay =@g @ 15
(3) 18 4 20

[Question ID = 2603][Question Description = Q25_GP_24NOV_S1_SHAAN_Shift1]



1. 1 [Option ID = 10409]
2. 2 [Option ID = 10410]
3. 3 [Option ID = 10411]
4. 4 [Option ID = 10412]

Correct Answer :-
e 1 [Option ID = 10409]

20 Which of the following options are true regarding inference with reference to classical Indian
system of logic?
(A) It is deductive
(B) It 1s induetive
(C) It has to be formally valid
(D) It has to be materially true
Choose the correct answer from the options given below :
(1 (A). (B) and (D) only (2)  (A). (B) and (C) only
(3)  (A).(C) and (D) only (4 (A).(B).(C) and (D) only

TF A F ARGA WA g F STIERE A & T § et e § 1 9 5 B

A) = e R
(B)  T7 SATTEEEF |
(C) =4 sAiv=iieh =9 | 99 =41 =10 |

(D) 38 9=OTE B9 § BeA BT 41T |
= fBm T e § o wE I = A
(1) Fa9 A), (B) 57 (D) (2) FA (A). (B) #H1 (C)

(3)  FF (A), (0) ¥R (D) @ (A (B). (C) # (D)

[Question ID = 2604][Question Description = Q26_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10413]
2. 2 [Option ID = 10414]
3. 3 [Option ID = 10415]
4. 4 [Option ID = 10416]

Correct Answer :-
e 1 [Option ID = 10413]

The collection of all the objects to which a term may correctly be applied is called :
(A) The intension of that term

(B) Connotation of that term

(C) The extension of that term

(D) Denotation of that term

Choose the correct answer from the options given below :
1) (A) and (B) only (2) (B) and (C) only
3) (A) and (D) only (4) (C) and (D) only

= T T = w5 e o vF g 1 @F =9 4 w=m TR S g 2, e B

(&) 7 g s
(B) 3 TE F =Ey
(C) =8 ug =1 a=ad
(D) 9 TE A=y

= e T e | 3 wE I W = Hie
() %= (A) 317 (B) (@) Fa= (B) 3 (C)
(3 ¥ Q) s (D) @ ¥4 (C) 3 (D)

[Question ID = 2605][Question Description = Q27_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10417]
2. 2 [Option ID = 10418]
3. 3 [Option ID = 10419]
4. 4 [Option ID = 10420]

Correct Answer :-
e 1 [Option ID = 10417]



23 . i i i 3 i

) “The Daily News carried an article this morning about some local teenagers who were
arrested on charges of drug possession. Teenagers these days are nothing but a bunch of
junkies”.
Which fallacy is committed in the above statement?
(1) Red Herring
(2) Strawman
(3) Argument against the person (ad hominem)

(4) Hasty Generalization

“2f TEER G ATF ges v g A e Fg e TR W 9res e uget e AR |

TRAT o 717 o7 | AT % TR S F T Afew Fe o W B | I R g w0 o Aear A7
1) T
@ =W

(3) =t = fawg % (v wneE)
(4 iy FmETEE

[Question ID = 2606][Question Description = Q28_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10421]
2. 2 [Option ID = 10422]
3. 3 [Option ID = 10423]
4. 4 [Option ID = 10424]

Correct Answer :-
e 1 [Option ID = 10421]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  The Naiyayikas did not give separate treatment of the inductive methods.

as the western logicians have done.

Reasons (R) : According to Nyaya school universal propostions are obtained from

perception itself by one of the forms of extra-ordinary perception.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) 1is false but (R) is true

= 2w fem oo :I"_Tﬁaﬁﬁ?ﬁm(AssertionA)%ﬁEqﬁfEf@H%ﬁigwaﬂéﬁW(ReasonR)’?ﬁ

wF

YA (A) FETtae! 3 ST WO W G WAl 96 4 # S weeres s e |
[ERIEd
= (R) £ 0 e ™ o o 0 M1 1 e o o el o B =M e 0 e e B

T =1 S 2

TIOF FUA F AT °, 919 90 T fawen § F 78 39 A = i

1) (A ¥R ®) FA 77 £ 31 (R), (A) F1 78 =men )

@) ()T ®)FE T 2 A (R), Q) FiwE = = o
(B (AT A ®) 7w R

@ (&) AR (R) F 2

[Question ID = 2607][Question Description = Q29_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10425]
2. 2 [Option ID = 10426]
3. 3 [Option ID = 10427]
4. 4 [Option ID = 10428]

Correct Answer :-
e 1 [Option ID = 10425]

Given below are two statements :



Statement I: Sesavata is the inference of what remains (sesa) by elimination of the
irrelevant.

Statement IT : S":esavata inference corresponds to the method of residues in western
inductive logie.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are true
2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true
= 21 e faw e #

Fom (I):  WvEd, ATERTE A 5 A S & I STAE F

T (ID): 99ad ATHH e AT TR § S99 =i T @ O o E |

TUURE YA F oS °, A 20 o fawedt § ¥ w8 3w @ 9 i
1 =FFEIsARIIATASR |
(@ F IR I s 3 |
(8)  wv 1% 7, @k wA I 38 7
(4) =9 [ 5@ &, oifed 9 L oeT 2 |
[Question ID = 2608][Question Description = Q30_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10429]
2. 2 [Option ID = 10430]
3. 3 [Option ID = 10431]

4. 4 [Option ID = 10432]

Correct Answer :-
e 1 [Option ID = 10429]

26
) When a computer is switched on, the BIOS is loaded from :
(1) Hard Disk 2y RAM
(3) ROM (4 CD-ROM

w9 TREl FEoger i feam o1 TR S 2 1 BIOS Fetieriad | & Tes =i T s 2 7

(1 =S 2 1
3y W (4) H=H=Ei-Tm

[Question ID = 2609][Question Description = Q31_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10433]
2. 2 [Option ID = 10434]
3. 3 [Option ID = 10435]
4. 4 [Option ID = 10436]

Correct Answer :-
e 1 [Option ID = 10433]

Identify the correct order of the following computer storage capacities ranked from largest to

smallest capacity.

(A) 100 GBytes

(B) 10000 000 000 Bytes
(C) 1 TBytes

(D) 1000 000 KBytes

Choose the correct answer from the options given below :
1 (©). . D.® 2 (0. ). ®B). D)

3 A.0.D.® @ @.©0).®.D



AL TS IHATAT =1 998 AT+ § 99 H 84T = Tl #H J T=Hi-=d Silag |

(&) 100 i ==z

B) 10 000 000 000 ==z

(C) 1lduwmse

(D) 1000000 fFaT ==z

= Bu T fawed °§ T wE I W = i

1 (C).@A. D). B 2 (©).A). ®B).D)
(3 (A ©). D). B @) (A).(C). [®B). (D)

[Question ID = 2610][Question Description = Q32_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10437]
2. 2 [Option ID = 10438]
3. 3 [Option ID = 10439]
4. 4 [Option ID = 10440]

Correct Answer :-
e 1 [Option ID = 10437]

Given below are two statements:

Statement I: Search Engines are websites that help a user to search for information on

WWW.

Statement I : For any search term, Search Engines provide the exact same results to all

the users.

In the light of the above statements. choose the corrrect answer from the options given

below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement IT is true

4= 7 A fu T E

F (D) :  FH S daEEe 7 = e ) WWW T SEEA T e | wEar w2

we (ID): et o9 20 % foru, o= S5 melfi s = T wREa i 26 |

IEE FIA F AAF H, A= 20 T famen 8 § o8l 39 % 99 i

(1) = Ik 5 =3 2 |
2  F I AR LA w5 2 |
(8) == L@ 7, o F9 1138 7 |

(4 wF I E, A e I 2|

[Question ID = 2611][Question Description = Q33_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10441]
2. 2 [Option ID = 10442]
3. 3 [Option ID = 10443]
4. 4 [Option ID = 10444]

Correct Answer :-
e 1 [Option ID = 10441]



With respect to computers. which of the following are random access storage devices?
(A) Magnetic Tape

(B) Hard Dick

(C) Pen Drive

(D) CDROM

Choose the correct answer from the options given below :
(1) (A). (B) and (C) only (2)  (A). (C). and (D) only
(3)  (B).(C) and (D) only (4) (A). (B) and (D) only
(A)  HTERE
® = e
© T

©) @S am

= fam T feere | B wE S W = i

O = (A, (B) 3 (O) (2) a9 (A). (C) #T (D)

(3)  F=e (B). (C) i (D) @ =99 (A). (B) ¥ (D)

[Question ID = 2612][Question Description = Q34_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10445]
2. 2 [Option ID = 10446]
3. 3 [Option ID = 10447]
4. 4[Option ID = 10448]

Correct Answer :-
e 1 [Option ID = 10445]

39 Match List I with List IT
List I List IT
Computer Terms Description

(A) Magnetic Tape (I)  Used in digital cameras photo printers
and cell phones

(B) Memory Card (IT) Uses laser beam technology to read or
write data

(C) Hard Disk (IIT) Used for data archival purposes but
must be accessed sequentially

(D) DVD (IV) A set of metal disks mounted on a
spindle

Choose the correct answer from the options given below :

(1) A-IID. B)-@). (C)-AV). (D)-(ID
@ (AaIV), B)-@. (O)-III). (D)D)
(3) (A, B)-(IV). (C)-@). (D)-(ID
4  AID. (B-ID. (O)-O, M)-aAV)

=1 % =19 g=hi-I1 =1 T9er =it

AT TI-IT



ey S AR R w7 PR TR, ST NS R ek YRR CCHERE O ATROE. TR

T B 2

(B) THTI TS () = # ved @ famd % fau e ofm

(C) == fzo= (II1) /=1 ATFETs T 7 TEE B R 9
SH AETEF B FAHET CHEE R S
=T |

(D) TawmE @ IV) Torss W @ wHaE T w1 ag==m

H T2 T TRt § W TE I S = i

1 A-II, B)-1). (C)-IV). (D)-ID)

(629] (&)-(IV). (B)-1). (C)-(1). (D)-AD)

(3)  (A)-D. B)-IV). (O)-@. (D)-(ID)

4 (&)-(ID). (B)-dID. (C)-D. D)-TV)
[Question ID = 2613][Question Description = Q35_GP_24NOV_S1_SHAAN_Shift1]
. 1 [Option ID = 10449]
. 2 [Option ID = 10450]

1
2

3. 3 [Option ID = 10451]
4. 4 [Option ID = 10452]

Correct Answer :-
e 1 [Option ID = 10449]

What will be the resultant of two noise levels of 81 dB and 90 dB generated by two
independent sources?

(1) ~96dB (2) ~91dB
(3 ~98dB (4 ~118dB

21 T Al | g 81 2Hee i 90 SHime % A Tl w1 g @ v

(1 ~96 dB (2) ~91dB
(3) ~ 98 dB (4) ~118dB

[Question ID = 2614][Question Description = Q36_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10453]
2. 2 [Option ID = 10454]
3. 3 [Option ID = 10455]
4. 4 [Option ID = 10456]

Correct Answer :-
e 1 [Option ID = 10453]

32) Match List I with List IT
ListI List IT
(A) Kyoto Protocol (I) Clean and Affordable Energy
(B) Montreal Protocol (II) Clean Development Mechanism
(C) Paris Agreement (III) Nationally Determined Contribution
(D) International Solar Alliance (IV) Phase out of chlorinated compounds

Choose the correct answer from the options given below :
(03] (A)-1D). (B)-(IV), (C)-(IID, D)-(D)
@ AAD. B)-IID). (C)-IV). (D)-ID
(3)  AAID. B)-IV). (O)-D. (D)-ALD
(4) (A)-I1D). B)-(IV). (C)-(D. (D)-AD

L1 F =y G-I =1 fiem Fifse

-1 T
Q) T W @O =5 s T e
(B) HifZa= TEmwe (I === foFm 7=
(C) ufw T D T =1 § faffrea Tem
©) e H (@AV) Tl i i woeg ww

A T T foeRe § W HE SE R = HI
(1) (A)-D). (B)-(IV). (O)-(1IL), (D)-(D)
(2) (A)-(D. (B)-III). (C)-(IV). (D)-AD
(3) (A)-(ID). (B)-(AV), (C)-(D). (D)-(III)
(4 (A)-ID). (B)-IV), (C)-M. (D)-(ID)

[Question ID = 2615][Question Description = Q37_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10457]



2. 2 [Option ID = 10458]
3. 3 [Option ID = 10459]
4. 4 [Option ID = 10460]

Correct Answer :-
e 1 [Option ID = 10457]

Given below are two statements:

Statement [: Solar flat plat collectors essentially work on the principle of Green

House Effect.

Statement [T : Black absorber plat radiates infrared radiations.

In the light of the above statements. choose the corrrect answer from the options given

below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true

= 7w fow o E

Fo| (I): T TAAd Wiz GUEF THETH T9E F WgE WA w5 # f

FoH (L) : 5o TSN g H SRS TR e 2 |

S e ok AT A, A9 50 U Gl H H HE I o =5 I,

(1) =2 o IS =ea 2 |

(2) % I3 IG5l T 7 |

(3) w19 2, ofF T 1L 58 2 |

(4 FEIlsmEaz S FE T 2|

[Question ID = 2616][Question Description = Q38_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10461]
2. 2 [Option ID = 10462]
3. 3 [Option ID = 10463]
4. 4 [Option ID = 10464]

Correct Answer :-
e 1 [Option ID = 10461]

Identify the correct sequence in decreasing order of percentage of total world’s water in the
following locations :

(A) Atmosphere

(B) Rivers and streams
(C) Ground water

(D) Lakes (Fresh water)

(E) Ice caps and Glaciers

Choose the correct answer from the options given below :
1 E).©). B. D). @A) 2 (E). B. (). D), A
3)  (E)(D).(0).®B). A @ (E). (©C). D). A).®B)

v % Tt Fel Wiae I e ST A gl W AatE e st i
N

(B)  AfEET A S



(©) g
(D) et (ar=m urt)
(B)  Temefid in feme

= fau o et o @ wE 3w = i

L (E)©.B. D). A (2) (E). (B). (C). D). (A)
3 (E)D.(©) ®B). @A) @ (E). (C). D). A). B
[Question ID = 2617][Question Description = Q39_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10465]
2. 2 [Option ID = 10466]
3. 3 [Option ID = 10467]
4. 4 [Option ID = 10468]

Correct Answer :-
e 1 [Option ID = 10465]

By the year 2030. Sustainable Development Goal 7 aims at enhancing the global rate of
improvement in energy efficiency by a factor of

(1) Two (2) Three
(3) Four (4) Five

= 2030 T, FAEAE faEE |57 1 SETE SRl Hl Aa® o § e o i gy w87

1 = (2) @

3 = @ =

[Question ID = 2618][Question Description = Q40_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10469]
2. 2 [Option ID = 10470]
3. 3 [Option ID = 10471]
4. 4 [Option ID = 10472]

Correct Answer :-
e 1 [Option ID = 10469]

According to NEP-20 the primary activities of the NRF will be to

(A) Fund competitive peer reviewed grant proposals of all types across all disciplines.
(B) Open new institutions of research and innovation.

(C) Act as a liason between researchers and relevant branches of government as well as

industry.

(D) Include research in curriculum at school level.

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (A) and (C) only

(3) (B) and (C) only (4) (C)and (D) only
T farem i4-20 % HFHT U, AR E. i WUt ittt 2 -

(4)  feEnt FERET gE TEAT SFE - o W S T TEn F e w g ww, e

TEMEAT H2H T |

(B) Y T TATIR F T T i AT AT |

(C)  =iaerdi=Tl 3R Heg TTRT] WA 31T 321 % sE FEl F = 9 FE T |
(D) Tl T T UIEAEE § 9E AT e |

= fom o T | B e S S A = S

() FF (A) AR (B) @) ¥4 (A) 3 (C)

(3 A (B) 3R (C) (4 FAE (C) ¥ (D)



[Question ID = 2619][Question Description = Q41_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10473]

2. 2 [Option ID = 10474]

3. 3 [Option ID = 10475]

4. 4 [Option ID = 10476]

Correct Answer :-

e 1 [Option ID = 10473]

Identify from the following those values which are called “Sattvika Values”
(A) Compassion

(B) Jealousy

(C) Respect

(D) Falsehood

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4)  (A) and (C) only

fr=fefga o o 31 ge i geme it fE wrfers gon | o A 2

@A)  FEm
®) =
© =W

D) wEemE
= fau o el A % HEE TUEEd I ] WA A

(1) et (A) 37 (B) (2) Faa (B) ¥ (C)
(3) == (C) 31w (D) (4) FEE (A) JR(C)

[Question ID = 2620][Question Description = Q42_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10477]
2. 2 [Option ID = 10478]
3. 3 [Option ID = 10479]
4. 4 [Option ID = 10480]

Correct Answer :-
e 1 [Option ID = 10477]

38 ; : i
) According to NEP-20 Secondary Education Comprises of classes
(L VIII-X 2 X-XII
(3) X-X 4 IX-XI

7% forerr i =+ srgEn et e § et wad e £ -

(1) VII-X (2) X-XI
3 X-X (4 IX-XI

[Question ID = 2621][Question Description = Q43_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10481]
2. 2 [Option ID = 10482]
3. 3 [Option ID = 10483]
4. 4 [Option ID = 10484]

Correct Answer :-
e 1 [Option ID = 10481]

3 Prakrit languages have similarities and differences with Sanskrit in many ways,
Prakrit languages when formalized for literary use their variation from conventional vedic
languages was
(1) Pali (2) Ardhamagadhi
(3) Apabhramsha (4) Hindi

TR T FT GCEA % WY Agd ¥ T o aeEars i fafieat 3 | wrwd o s e ey

waeg 1 T a9 T unufers dfew amw w s fea o, 9w o -



i

(1) = (2)  wrgEH
(3)  smEw 4) f&=i

[Question ID = 2622][Question Description = Q44_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10485]
2. 2 [Option ID = 10486]
3. 3 [Option ID = 10487]
4. 4[Option ID = 10488]

Correct Answer :-
e 1 [Option ID = 10485]

40) As a result of Wood's Despatch. which of the following Universities were established in 18577
(1) Calcutta, Bombay and Madras
(2) Bombay, Madras and Delhi
(3) Delhi. Bombay and Calcutta
4) Madras. Calcutta and Delhi
T2 % GIuNed  uionesEy, FefEtEe § @ 6 8 fvatames f s 51 1857 g7

(1)  ersm, o0s 31T 92
(2 W=, qg i e
(8)  Tamell, wme AT e

(4)  Hgm, e S fEett

[Question ID = 2623][Question Description = Q45_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10489]
2. 2 [Option ID = 10490]
3. 3 [Option ID = 10491]
4. 4 [Option ID = 10492]

Correct Answer :-
e 1 [Option ID = 10489]

Topic:- 03rd_Set7_C

) Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry.
technocrats, leaders of thought, teachers and educationists, research workers. professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor idea of the values of freedon and human
dignity. the value of food, security and health care for millions of poor and disadvantaged
people. the importance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles. etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and dizsadvantaged groups
in our society constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values. oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism. violence superstition and fatalism.

In higher education. in the context of promoting strong value orientation. which of the
following statement holds true?

(1) Provide opportunities to students to acquire scientific knowledge of high standards.
(2) A Policy for development of values may be prepared.

(3) Offer courses related to inter disciplinary contemporary socio-economic problems.
(4) The universities should aim to enrich technological dimensions.
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[Question ID = 2624][Question Description = Q46_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10493]
2. 2 [Option ID = 10494]
3. 3 [Option ID = 10495]
4. 4 [Option ID = 10496]

Correct Answer :-
e 1 [Option ID = 10493]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry.
technocrats, leaders of thought, teachers and educationists, research workers. professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study. may have a poor idea of the values of freedon and human
dignity. the value of food, security and health care for millions of poor and disadvantaged
people. the importance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles. etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
1n our soclety constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners. because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values. oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

The higher education system as of now emphasizes on
(1) Utilitarian values (2) Human values

(3) Social and Political values (4) Spiritual values
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1. 1 [Option ID = 10497]
2. 2 [Option ID = 10498]
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4. 4 [Option ID = 10500]

Correct Answer :-
e 1 [Option ID = 10497]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry.
technocrats, leaders of thought, teachers and educationists, research workers. professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study. may have a poor idea of the values of freedon and human
dignity. the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing societies and solving several
problems. the importance of proper human relations and personal life styles. etc. A good
number of them. however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence.
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
in our soclety constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners. because as pointed out in national policy document
1986. 1t can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values. oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

Value oriented curriculum at professional studies level is important
(1) To propagate the values Further

(2) To have a glimpse of the issues of the poor and disadvantaged
(3) To balance other pedagogy, related deficiencies

(4) To train students as efficient resource agents
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1. 1 [Option ID = 10501]
2. 2 [Option ID = 10502]
3. 3 [Option ID = 10503]
4. 4 [Option ID = 10504]

Correct Answer :-
e 1 [Option ID = 10501]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry.
technocrats, leaders of thought, teachers and educationists, research workers. professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor idea of the values of freedon and human
dignity. the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing societies and solving several
problems. the importance of proper human relations and personal life styles. etc. A good
number of them., however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence.
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
in our soclety constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values. oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism. violence superstition and fatalism.

The most suitable Caption for the passage may be :

(1) Enforcing values in education

(2) Importance of values

3) Value implementation

4) Value basis for tertiary education and society
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[Question ID = 2627][Question Description = Q49_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10505]
2. 2 [Option ID = 10506]
3. 3 [Option ID = 10507]
4. 4 [Option ID = 10508]

Correct Answer :-
e 1 [Option ID = 10505]

Read the passage carefully and answer the question that follow



1he need Ior cONTINUINE and reiniorcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry.
technocrats, leaders of thought, teachers and educationists, research workers. professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor idea of the values of freedon and human
dignity. the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing societies and solving several
problems. the importance of proper human relations and personal life styles. etc. A good
number of them. however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence.
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
in our soclety constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners. because as pointed out in national policy document
1986. 1t can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values. oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism. violence superstition and fatalism.

In order to cultivate values. the higher education system should concentrate on
(1) Plugging pedagogical deficiencies

(2) Integrating technology

(3) Integrating technology with pedagogy

4) Curricular reforms
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1. 1 [Option ID = 10509]
2. 2 [Option ID = 10510]
3. 3 [Option ID = 10511]
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Correct Answer :-
e 1 [Option ID = 10509]



